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B

EBE 130 15 115 58| 24115 4,834 46 74 4032 | 15,129 1571 1,071 1,020
EA 14 - 14 10 2,622 372 4 - 450 1,796 144 51 104
INGETH 3 - 3 1 738 260 - - 42 436 29 38 19
AT 7 - 7 5 1,427 112 4 — 248 1,063 73 13 55
/NEET 1 - 1 1 99 - — — 49 50 2 — 3
{E AFEHT 1 - 1 1 97 - — — 45 52 6 — 4
JIL EAF - - - - - - - - — — 2 — 1
a8t - - - - - - - - = - 4 - 1
B - - - — — - - - - - 1 — —
JLHEAR* - - - - - - - — - — 1 — —
X HHIRHET 1 - 1 1 103 - - - 24 79 16 - 12
{04 EH T 1 - 1 1 158 - - - 42 116 6 - 6
AL TET - - - - - - - - - - 4 - 3
L 16 3 13 7 2,615 557 4 - 843 1211 119 181 89
+tHH 13 2 11 7 2,314 456 4 — 843 1,011 98 143 76
X5l 2 1 1 - 161 101 - — - 60 15 38 10
EF0HT 1 — 1 — 140 - — — - 140 4 — 2
FARH - - - - - - - - - - 2 — 1
mEH 12 1 11 5 2,057 317 4 — 239 1,497 147 139 96
R 4 — 4 2 686 210 4 — 92 380 33 66 27
mEATH 3 1 2 1 580 107 — — 48 425 45 25 28
=Hh 1 - 1 1 360 - — — 45 315 42 33 20
T EREAHET 3 - 3 1 270 - — — 54 216 15 — 14
ELTRE 1 - 1 — 161 - — — - 161 8 15 4
[E#T - - - - - - — — - - 4 — 3
LR 10 3 7 3 1,604 330 4 - 318 952 136 60 86
FAh 4 1 3 2 780 116 4 — 210 450 58 26 38
En/r iRt 3 1 2 — 475 129 — — - 346 32 19 14
REFHT 1 — 1 — 100 — — — — 100 15 — 12
HomET 1 - 1 1 164 - — — 108 56 12 — 9
R E AT - - - - - - - - - - 5 — 5
EEmN 1 1 - — 85 85 — — - - 9 - 3
= lIES] - - - - - - - — — - 2 - 1
= HF - - - - - - - — — - 3 15 4
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BR1F 10 - 10 6 1,790 240 4 - 463 1,083 137 66 81
BRE T 7 - 7 4] 1,482 240 4 - 361 877 89 47 61
FA) 1| BT 1 - 1 1 112 - - - 46 66 6 - 5
= FR T 1 - 1 1 111 - - - 56 55 8 - 4
ey T T 1 - 1 - 85 - - - - 85 5 - 2
Be] 28 4+ - - - - - - - - - - 10 19 1
FAH - - - - - - - - - - 1 - -
1R P4 - - - - - - - - - - 2 - -
TARH - - - - - - - - - - 2 - 1
SEAF - - - - - - - - = - 1 - 1
REEft - - - - - - - - - - 2 - -
REH - - - - = = - - - - 2 - 1
BAH - - - - - - - - = - 3 - 2
SRH - - - - - - - - - - 3 - 3
REEH - - - - - - - - - - 3 - -
A5 1 - 1 1 259 - 4 - 48 207 19 - 12
Nt /N | - - - - - - - - - - 4 - 1
e A 5 HT - - - - - - - - - - 2 - 1
A EHT 1 - 1 1 259 - 4 - 48 207 8 - 8
A1+ - - - - - - - - = - 2 - 1
FEH - - - - - - - - - - 1 - -
REH - - - - - - - - - = 2 - 1
A 27 5 22 8| 5128 1,183 6 50 495 | 3,394 365 224 222
WAT 17 3 14 4] 3751 843 6 50 248 | 2,604 229 122 140
& G 5 - 5 3 409 - - - 199 210 40 28 32
REHT 5 2 3 1 968 340 - - 48 580 84 74 42
FRAE Y - - - - - - - - - - 2 - 2
IR - - - - - - - - - - 1 - 1
1525 - - - - - - - - - - 5 - 2
R - - - - - - - - - - 1 - 2
FAL - - - - - - - - - - 3 - 1
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At 2 - 2 1 619 120 4 - 62 433 53 45 24
KB 1 - 1 1 277 - 4 — 62 211 28 26 11
jth B T 1 - 1 - 342 120 - - - 222 8 - 3
NIIES) - - - - - = - - = = 8 - 5
BHEHN - - - - - - - - - - 7 19 4
INEFE - - - - - - — - - - 2 — 1
£ 35 3 32 15 6,518 1,531 8 24 1,032 3,923 392 269 272
E&h 26 2 24 9 5,055 1,435 4 — 638 2,978 287 229 209
AR 2 - 2 1 437 - 4 24 76 333 40 36 25
FeiTh 4 1 3 2 611 96 — — 158 357 38 — 21
IR 3k BT - - - - - - — — - - 10 — 5
/N fi T 1 - 1 1 155 — - - 59 96 6 - 4
= W - - - - - - = - - - 3 4 1
{EiEHT 1 - 1 1 99 - - - 50 49 3 - 3
R A ET 1 - 1 1 161 - - - 51 110 4 - 3
AVIIES) - - - - - - - - - - 1 — 1
1E 3 - 3 2 903 184 4 — 82 633 59 36 34
aakadit] 2 - 2 1 619 184 4 — 38 393 28 36 21
PG 1 - 1 1 284 — - - 44 240 14 — 6
1L/ AT - - - - - - - - - - 5 - 4
AEFEH - - - - - - - - - - 4 - 1
FRERM - - - - - - - - - - 5 — 1
ELD) - - - - = - - - - 3 - 1
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